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Mr. Schlansky Geometry

Equations of Lines and Circles Review
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1. What is an equation of the line that is perpendicular to the line whose equation is y = % =2
d that through the point (3,-6)? < )
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2. The equation of a line is y = 2, +5. Whatis an equation of the line that is perpendicular to
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3. What is an equation of the line that passes through the point (6, §) and is perpendicular to a line
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4. What is an equation of a line which passes through (6, 3} and i 1s rpendlcular to the line whose
equation is 4x — fiy = 157
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5. The line y =—x—2 is dilated by a scale factor of 2 centered at the origin. Write an equation

that represents the image of the line after the dilation.
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(Dy=2x—4  3)y=x—4 h=
2 | _ |
o= ‘,,2(3-):"’{

1
2)y=§x—2 4) y=x-2

6. The line-y = lx —2 is dilated by a scale factor of 2 and centered at (0,-2). Write an equation
g gt T ————
that represe€nts the image of the line after the dilation. W()[‘* o 9, N
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7. The line p=2x -4 is flated by a scale factor of % and centered at (1,-2). Write an equation
that represents the image of the line after the dilation. ’ 7 o+ Ofl\‘jifi
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2) y=2x-6
3) y=3x-4
4) y=3x-6

8. The line y = Zx@ dilated by a scale factor 6}@ centered at the origin. Which equation

represents the image of the line after the dilation” /)}U‘:Hﬂ? Siqo —%él.o/ (,]/27{ j)
1) y=2x-4 :
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9. The line y =2x—1 is dilated centered at (4,1). Which linear equation could be its image?
2x+y=3 ) 3) —x+2y=3
2) 2x—y=7 4) —x-2y=6
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10. The line y = Ex +3 is dilated centered at the origin. Which linear equation could be its
image? .

1)2x+3y= 7 3)3x-2y=17

@n 3y= 7 Y 4) 3x+2y=7
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= 11. Which of the followmg is the equation of the given circle? ' inV* (L) \E)' }
@(x—5)2+(y—2)2=16 | ﬁfoft\)s.‘-[
9) (x+5)° +(y+2)* =16
7 (x=57+(y-2) =4
4) (x+5)7 +(y+2)° =4
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12. Which of the following is the equation of the given circle?
I (x—4)’+(y+2)*=9
> ) (x—4Y +(y+2)’ =3
@}x+4) +(y-2)=9
d) (x+4) +(y-2)*=3
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Graph the following circles on the provided graphs i
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15. Find the center and radius of a circle whose equation is x™ +y” -2x+6y+—=07 [(\}/3 IS A:._ l
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A (—1,3); radius = 24_5 ({'/)J»! ) ( l‘/"% ) Bz(—-j
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2 center = (1,-3); radius = % /c?;:g S/
@ center = (1,—3); radius = %

16. Find the center and radius of a circle whose equation is x? 4+ y? —16x+6y+53 =07
1) center (-8,3) and radius 20

. = |
e A=
2) center (-8,3) and radius 2/5 , (-Oil’; R=- )(0
3) center (8,-3) and radius 20 C@ﬂ_\j(". ( % _.’3) C"" é
center (8,~3) and radius 2/ — 2| ~
(adin’ =441 D=53

- . 2(5=4.473l
Find the center and radius of the following circles:
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Fmd X in each of the following pictures rounding to the nearest integer
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21. Triangle ABC shown below is a right triangle with altitude AD drawn to the hypotenuse BC.
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I[f BD=2 and DC=10, what is the length of AB? L -
1) 2 «f?. a,_( X \/\/'\-//
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4) 2./30 <=0
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22. In the diagram below of rlght trlangle ABC, altitude BD is drawn to hypoteﬂ%"se AC, AC = 14, and
CD=11
What is the length of BD?.
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2) 4.7
3) 7.3
4) 12

23. Inthe dlagram below, AB|| DE IfAC=2,CD =6, and CE =3, what is BC ? @/’LQ
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24. In the diagram below, 4D intersects BZ at C, and AB||DE.

If CD=6.6 cm, DE =34 cm, C&=4.2 cm, and BC' = 5.25 cm, what is the length of AC, to the
nearest hundredth of a centimeter?




